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General English

Directions (Q.Nos. 1-2) In the following

questions, some part of the sentence may

have errors. Find out which part of the

sentence has an error and select the

appropriate option. If a sentence is free

from error, select 'No Error'.

1. While he went beside (a)/ with our

decisions, we were (b)/ never sure he

totally agreed. (c)/ No error (d)

2. The after morning (a)/ she woke to the

first ray of (b)/ light through the window.

(c) No error (d)

Directions (Q. Nos. 3-4) In the following

questions, the sentence given with blank

to be filled in with an appropriate word.

Select the correct alternative out of the

four and indicate it by selecting the

appropriate option.

3. The psychopath gets a ........ sense of

enjoyment from torturing animals.

(a) perverse (b) agreeable

(c) happy (d) resonable

4. When Jaspal got angry, he started to

.......... his feelings with his hands.

(a) participate (b) immolate

(c) intoxicate (d) gesticulate

Directions (Q.Nos. 5-6) In the following

questions, out of the four alternatives,

select the word similar in meaning to the

word given.

5. Fossilise

(a) Amalgamate

(b) Dissolve

(c) Flex

(d) Liquefy

6. Depict

(a) Conceal (b) Distort

(c) Characterise (d) Suppress

Directions (Q. Nos. 7-8) : In the following

questions, out of the four alternatives,

select the alternative which best expresses

the meaning of the idiom phrase.

7. Gnash your teeth

(a) Express rage

(b) Brush your teeth

(c) Laugh hysterically

(d) Take a big bite

8. Let something slip through one's

fingers

(a) Lose a wedding ring

(b) Not be able to understand a

difficult concept

(c) Let go of certain unpleasant

things

(d) To waste an opportunity to

achieve something

Directions (Q. Nos. 9-10) In the following

questions, out of the four alternatives,

select the alternative which will improve

the bracketed part of the sentence. In case

no improvement is needed, select 'no

improvement'.

9. What would you like (to do it) for

your birthday?

(a) to do

(b) doing

(c) does

(d) No improvement

10. You must (be mistake).

(a) be mistakenly

(b) be mistaken

(c) be mistook

(d) No improvement

11.

(a) (b)

(c) (d)

12.

(a)

(b)

(c)

(d)

13.

(a) (b)

(c) (d)

14. (a)

(b)

(c)

(d)

15. (a) (b)

(c) (d)

16. (a) (b)

(c) (d)

17.

(a) (b)

(c) (d)

18.

(a)

(b)

(c)

(d)

19.

(a) (b)

(c) (d)

20.

(a) (b)

(c) (d)
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(a) (b)

(c) (d)

(a) (b)

(c) (d)

(a)

(b)

(c)

(d)

(a) (b)

(c) (d)

(a) (b)

(c) (d)

(a)

(b)

(c)

(d)

(a)

(b)

(c)

(d)

(a) (b)

(c) (d)

(a) (b)

(c) (d)

(a)

(b)

(c)

(d)

31.

15 

8 

1 20

(a) 20 

(b) 15 

(c) 20 

(d) 15 

32.

(a)

(b)

(c)

(d)

33.

(a) (b)

(c) (d)

34. 36 16 

9 

(a) 27 (b) 25

(c) 20 (d) 22

35. ‘SPARK’ ‘TQBSL’

‘DAIRY’ 

(a) ADYJZ (b) CSJTZ

(c) EBJSZ (d) FCJQZ

36. ‘bad and good’

‘325’ ‘two and

none’ ‘462’

‘that is bad’ ‘159’

‘good’ 

(a) 9 (b) 3

(c) 2 (d) 2 3

37.

(a) 10 (b) 9

(c) 11 (d) 12

38. C = 24 HOT = 38, FEAR

= ?

(a) 68 (b) 55

(c) 78 (d) 46

39.

28

(a) 35 (b) 36

(c) 33 (d) 34

Hkkx&2
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40. ‘STOVE’ ‘FNBLK’

‘VOTES’

(a) BNLKF (b) KFLBN

(c) LBNKF (d) NBLKF

41. BIOS 

(a)

(b)

(c)

(d)

42.

(a) COM 1 (b)  45

(c)  11 (d)  10

43.

(a)

(b)

(c)

(d)

44. ..................

(Access time) 

(a) (Cache)

(b) (Virtual)

(c) (Secondary)

(d) (External)

45.

(a) (b)

(c) (d)

46.

(ALU) 

(a)

(b)

(c)

(d)

47.

(a)

(b)

(c)

(d)

48.

(a)

(b)

(c)

(d)

49.

(a)

(b)

(c)

(d)

50.

(a) (b)

(c) (d)

51.

(a)

(b)

(c)

(d)

52.

(a) (b)

(c) (d)

53.

(a) (b)

(c) (d)

54.

(a)

(b)

(c)

(d)

55.

(a)

(b)

(c)

(d)

56.

(a)

(b)

(c)

(d)

57.

(a)

(b)

(c)

(d)

58.

(a) (b)

(c) (d)

59.

(a)

(b)

(c)

(d)

60.

(a)

(b)

(c)

(d)

61.

(a) (b)

(c) (d)

62.

(a)

(b)

(c)

(d)

63. 4

(a)

(b)

(c)

(d)

64.

(a)

(b)

(c)

(d)

65.

(a)

(b)

(c)

(d)
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66.

(a)

(b)

(c)

(d)

67.

(a)

(b)

(c)

(d)

68.

(a) (b)

(c) (d)

69.

(a)

(b)

(c)

(d)

70. Survival of

the fittest

(a) (b)

(c) (d)

71.

(a) (Brassica juncea)

(b) (Brassica campe-

stris)

(c) (Brassica niger)

(d)

72.

(a)

(b)

(c)

(d)

73. (endoplasmic

reticulum) 

(a)

(b)

(c)

(d)

74.

(a)

(b) CO2 CO

(c) SO2 CO

(d) SO2 NO2

75. (plasmalemma) 

(a)

(b)

(c)

(d)

76.

(a)

(b)

(c)

(d)

77.

(a) G1- (b) G2-

(c) S- (d) G0-

78.

(a) (intercalary meri-

stem) 

(b) (Lateral merist 

(c) (apical meristem)

(d) (plate meristem)

79.

(a)

(b)

(c)

(d) (a) (c) 

80. (cyclic

photophos-phorylation) 

(a) I 

(b) II 

(c) (a) (b)  

(d)

81.

(a) CH4 (b) H2

(c) NH3 (d) O2

82.

(a)

(b)

(c)

(d)

83. (phyllode) 

(a)

(b)

(c)

(d)

84.

(a)

(b)

(c)

(d)

85. C 

(a)

(b)

(c)

(d)

86. (zoophily) 

(a)

(b)

(c)

(d)

87. (phycocolloids) 

(a)

(b)

(c)

(d)

88. (choanocytes) 

(a)

(b)

(c)

(d)

89.

(a)

(b)

(c) F1 

(d)

90. (test cross) 

(a) F1-

(b) F1-

(c) F1-

(d) F1-

91.

(a)

(b)
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(c)

(d)

92. (chiasmata) 

(a)

(b)

(c)

(d)

93.

(flagella) 

(a) (monotrichous)

(b) (amphitrichous)

(c) (lophotrichous)

(d) (peritrichous)

94.

(a) (nyctinastism)

(b) (thigmotropism)

(c) (seismonasty)

(d) (haptonastism)

95.

(a) Cu (b) Fe

(c) Ca (d) K

96.

(a)

(b)

(c)

(d)

97. (spinal

nerves) 

(a) 10 (b) 30 

(c) 12 (d) 33 

98.

(a) (b)

(c) (d)

99.

(a) (Cycas revoluta)

(b) (Cycas circinalis)

(c) (Cycas pectinata)

(d) (Cycas rumphii)

100. (rabbit) 

(a)
2033

1023
(b)

2133

2133

(c)
1023

2033
(d)

2133

1023

101.

(a)

(b)

(c)

(d)

102.

(a)

(b)

(c)

(d)

103. (grasshopper) 

(a) XY 

(b) WZ 

(c) XO 

(d)

104. (girdling experi-

ment) 

(a)

(b)

(c)

(d)

105.

(a)

(b)

(c)

(d)

106.

(a)

(b)

(c)

(d)

107.

(Sapruphyte)

(a) (Monotropa)

(b) (Loranthus)

(c) (Viscum)

(d) (Santalum)

108.

(secondary pollutant) 

(a) CO2 (b) SO2

(c) NO2 (d) H2O

109.

(a) (sclereids)

(b) (xylem)

(c) (collenchyna)

(d) (Selerencyma)

110.

(a) (reproduction)

(b) (crossing over)

(c) (cloning)

(d) (linkage)

111.

(a)

(b)

(c)

(d)

112.

(a) (b)

(c) (d)

113.

(a) (b)

(c) (d)

114.

(a) (b)

(c) (d)

115.

(a) (clay)

(b) (silt)

(c)

(d) (loamy soil)

116.

(a)

(b)

(c)

(d)

117. (biotrophic nutrition)

(a) (parasites) 

(b) (saprophytes) 

(c) (insectivores) 

(d)

118.

(a) (endosperm)

(b) (embryo sac)

(c) (embyro)

(d) (zygote)

119. (Haversian

canals) 

(a) (bones) 

(b) (cartilage) 

(c) (ligaments) 

(d) (Liver) 
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120.

(a) (b)

(c) (d)

121.

(a)

(b)

(c)

(d)

122.

(a) (Reptilia)

(b) (Araneae)

(c) (Arachnida)

(d) (Neoptera)

123. (stony

endocarp) 

(a) (aggregate) 

(b) (drupe) 

(c) (berry) 

(d) (pome) 

124.

(a) (sponging) 

(b) (piercing) 

(c) (biting) 

(d) (tearing) 

125.

(a)

(b)

(c)

(d)

126.

(a)

(b)

(c)

(d)

127.

(a)

(b)

(c)

(d)

128. (inspiration) 

(a)

(b)

(c)

(d) (a) (b) 

129.

(foramen) 

(a) (foramen magnum)

(b) (apical foramen)

(c) (foramen  ovale)

(d) (foramen

transversarium)

130.

(a)

(b)

(c)

(d)

131.

(a) (stratified

squamous epithelium)

(b) (ciliated

epithelium)

(c) (squamous

epithelium)

(d) (stratified

cuboidal epithelium)

132.

(a) (b)

(c) (d)

133.

(a) (renal cortex) 

(b) (renal medulla) 

(c) (renal capsula) 

(d) (renal fascia) 

134.

(a) (semilla)

(b) (aril)

(c) (pericarp)

(d) (pedicel)

135.

(a) C2H2 (b) C2H4

(c) C2H6 (d) C2H8

136.

(cranial nerve) 

(a) (abdulens)

(b) (optic)

(c) (trochlear)

(d) (facial)

137.

(bog moss) 

(a) (b)

(c) (d)

138. (guttation) 

(a)

(b)

(c)

(d)

139.

(a) (b)

(c) (d)

140.

(a)

(b)

(c)

(d)

141.

(a) (aggregate)

(b) (cypsela)

(c) (drupe)

(d) (pome)

142.

(a) (meroblastic)

(b) (holoblastic)

(c) (haploblastic)

(d)

143.

(a) (b)

(c) C3- (d) C4-

144.

(a)

(b)

(c)

(d)

145.

(a)

(b)

(c)

(d)

146.

(a)

(b)
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General English

1. (a) Besides will be used in place of

beside as besides means 'apart from or

beyond' while beside means 'next to'.

2. (a) 'after' will be replaced by 'next' as

after does not make any sense and next is

used here for the coming morning.

3. (a) 'perverse' is the correct word  to

fill in the blank as it makes the correct sense

and it means behaving in a way that is

unreasonable or unacceptable.

4. (d)

5. (a) 'Fossilise' and 'amalgamate' are the

synonyms as both the words mean 'to make

or become solid or integrate.'

6. (c) 'Depict' and 'characterise' are the

synonyms as both the words mean 'portray

in words or describe.'

7. (a) 'Gnash your teeth' means to

complain angrily and noisily about

something, so 'express rage' is the correct

answer.

8. (d) 'Let something slip through one's

fingers' means to waste an opportunity to

achieve something, so the given option (d) is

correct.

9. (a) 'to do' should be used in place of

'to do it' in the sentence to make it grammatically

correct.

10. (b) 'be mistaken' will be used in

place of 'be mistake' as it is a Passive Voice

so third form of Verb 'mistake' will be used

to make it grammatically correct.

11. (b) 

12. (c) 

=

13. (d) 

14. (c) 

15. (a) 

16. (b)  

17. (b) 

18. (c) =

19. (b) 

20. (d) = 

Hkkx&2

(c) (c) (c) (c)

(d) (b) (a) (d)

(a) (c)

31. (a)

AE = AB + BE

= (15 + 1) 

= 16 

= AF

= 2 2(AE) (EF)

= 2 2(16) (12)

= 256 144

= 400  = 20 

= 

32. (a) 

33. (d)

34. (c) 16 

9 

7 

= (36 – 16) = 20

9
20

7

35. (c)

S P A R
+1

+1

+1

+1

+1

K T Q B S L

(c)

(d)

147.

(a) (b)

(c) (d)

148.

(link enzyme) 

(a)

(b)

(c)

(d)

149.

(a) (b)

(c) (d)

150.

(a) C (b) Zn

(c) Ca (d) Mg

Hkkx&1
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D A I R
+1

+1

+1

+1

+1

Y E B J S Z

36. (b)

bad and good 3 2 5

two and none 4 6 2

that is bad 1 5 9

good  3

37. (c)

9
M

10
| | V

13
|

20

| ||| | | | K

11

= (20 + 13 – 1) = 32

= (32 – 11 + 1) = 22

11 

38. (c) C = 27 – 3 = 24

H  27 – 8 = 19

O  27 – 15 = 12

T  27 – 20 = 07

HOT = 19+ 12 + 07 = 38

F  27 – 6 = 21

E  27 – 5 = 22

A  27 – 1 = 26

R  27 – 18 = 09

FEAR = 21+ 22 + 26 + 09 = 78

39. (d) =

7 + 28 – 1 =34

40. (c)

S T O V E

F N B L K
    

V O T E S

L B N K F
    

41. (d) BIOS 

(Basic Input Output system)

(ROM) (BIOS) 

42. (c) (RJ-11 Registered

Jack-11) 

43. (a)

 (Input), 

(processing), (Production) 

(Storage)

Input Process Output

Storage

Primary Storage Secondary Storage

-RAM

-ROM

-EPROM

-DVD

-Hard Disk

-USB Flash Drive

44. (a) (Cache) 

(Access time) 

(CPU) 

CPU 

(Virtual Memory) 

(Secondary Memory) 

(Non-Volatile) 

45. (a) (Android) 

(Ubantu) 

2004 

(Linux) 

(Linut Torvalds) 1991 

(windows) 

(Graphical User Interface) 

46. (d)

(ALU) 

47. (c) (DVD) 

(Digital Versatile

Disk)

CD- 4.7

GB 

48. (a) (OSI) 

(Open system interconnection)

OSI (Seven

layers) 

49. (d) (ALU) 

(Arithmetic Logic Unit) 

(MU-Memory Unit) CPU 

(process unit) (CU-Control

Unit) (CPU) 

Processing 

50. (b) (Speaker) 
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(Mouse) 

(Micro phone) (Mice)

(Enter) 

(Joystick) 

51. (d)

 52. (d)

53. (c)

1. 

2.

54. (d)

55. (d)

56. (c)

57. (c)

58. (b)

59. (d)

60. (b)

(Psychological) 

(Physical) 

61. (d)

62. (c)

(Modification) 

63. (c) 64. (b) 65. (d) 66. (b)

67. (d)

68. (d) 69. (b) 70. (c)

71. (a) (Brassica juncea)

(mustard green) (Indian

mustard) (chinese mustard)

(leaf mustard) 

72. (b) 

(Oxidative phosphorylation)

(powder house) (power

plant) (energy

converting organelle) 

(cellular furnaces) (energy

store house) 

73. (a) 1948 

74. (d) SO2 NO2 

H2SO4

HNO3 

75. (b) 

76. (a) 

(semiconservative) 

1958 

77. (c) (1953) 

G1, S, G2 

M G1

S-

G-2 

(mitotic spindles) 

M-

(karyokinesis) 

(cytokinesis) 

78. (b) (lateral

meristem) 

(radial) 

(vascular cambium) (cork

cambium) (intercalary

meristem) 

79. (c) 
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80. (a) 

(cyclic photophos-phorylation) 

-I 

I 

II 

81. (d) 1953 

(electric

chamber) 

(sparking) 

- N-

82. (c) 

83. (d) (phyllodes) 

(Acacia) 

84. (a) 

(deoxygenated) 

85. (c) C 

-C 

86. (b) (zoophily) 

(zoomophilous)

(entomophilous

species) 

(zoophilous) 

(arctium), (Acaena) 

(Galium aparine)

87. (a) 

(phycocolloids) 

88. (b) 

(choanocytes) 

(asconoid), (syconoid)

(asconoid) 

(choanoflagellate) 

89. (b) 

(oxidative

phosphorylation) 

90. (c) F1 

(test cross) 

(test cross progeny) 

91. (a) (gonadotropins)

(LH) 

(FSH) 

92. (a) 

(chiasmata)

(crossing

over) 

93. (b) 

(flagellar arrangements) 

(i) (Monotrichous) :

(ii) (Amphitrichous) :

(iii) (Lophotrichous) :

(iv) (Peritrichous) : 

(randomly) 

94. (b) (thigmotrophism) 

(tendrils)

(untouched) 
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(rapid plant movement) 

(tropism) (nastic

movement) 

95. (a) 

96. (d) 

(agronomist) 

97. (a) 

98. (b) 

(cross-striated) 

(filament systems) 

(multiprotein complexes) 

(thick filament

system) 

(titin) M- Z-

C 

(thin

filaments) (nebulin) 

(actin filaments) 

100,000 

99. (a) 

(cycad) 

(palm) 

(taxa) 

100. (a) (rabbit) 

2033

1023
 = 14 

101. (a) (taxonomist)

1969 

(five-kingdom classi-

fication) 

(i) 

(ii) (unicellularity) 

(multicellularity) 

(iii) 

102. (a) (hydrophytes) 

103. (c) XX/XO 

(XX) 

(XO) O 

104. (b) (ringing or

girdling experiment) (Hartig)

1837 

105. (a)
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106. (a) 

(micropylar end) 

apparatus), 

(chalazal end) 

(antipodal cells) 

107. (a) (saprophyte) 

(assimilation) 

(heterotroph) 

(Monotropa) 

(myco-heterotroph) 

108. (c) 

(photochemical reactions) 

(primary emitted chemicals)

(photochemical smog) 

109. (b) 

110. (c)

(individuals)

111. (a) (pelvis)

(concave) 

(hip joint) 

112. (b) 

113. (a) 

(cyanobacteria)

(chlorophyll)

114. (a) 

(Robert Wight) 1847 

115. (d) (loam soil), 

(sand), (silt) (clay)

(relatively even

concentration)

(gritty) 

116. (d) 

(cellulose matrix) 

(later flowering)

117. (a) (plant

pathogenic fungi) 

(infection

process) 

(long-term

feeding relationship) 

(biotrophic) 

118. (b) (embyro sac) 

(egg) 

(antipodal) 

119. (b) (Haversian canal)

(Vokmann’s canal) 



-1 13

120. (c) 

(pigment) 

121. (d) 

21(2n + 1) =  47 

122. (c) 

123. (b) (drupe) 

(exocarp) (skin)

(measocarp) (flesh)

(endocarp) 

(superior ovary)

(single carpel)

124. (b) 

(ahewing

type) 

(piercing

and sucking) 

(fluids) 

125. (a)

(neurilemma) 

126. (c) 

(ureotelic)

127. (a) 

128. (b) (inspiration) 

(inhalation) 

(external

intercostal muscles) (diaphragm)

129. (a) (anatomical

studies) 

(occipital bone) 

(foramina) 

(skull vault) 

(transmission) 

(spinal accessory

nerve), (vertebral arteries),

(vertebral arteries),

(anterior and

posterior spinal arteries), 

(membrana tectoria) (alar

ligaments) (transmit) 

130. (a)

(intermediate host) 

(primary

host) 

131. (a) (stratified

squamous epithelium) 

(basement membrane) 

(living) 

132. (d) (toxic)

(Pallet) 

133. (a) (renal cortex) 

134. (b) (funiculus) 

(outgrowth) (hilum) 

135. (b) (C2H4) 

(shelf life) 

(floral sensescence)

(floral abscission) 

(shelf life) 
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136. (c) 

(tubules), (vesicels)

(cisternae) 

(rough endoplastmic reticulum) 

(smooth endoplasmic reticulum)

(drug detoxification) 

137. (b) 

(peatland) 

20 

138. (b) 

(herbaceous plants)

(guttation)

(vein ending) 

(water stomata) 

(hydathodes) 

139. (c) 10,

1864 — 1933 

140. (b) 

(tubules), (vesicles)

(cisternae) 

(rough endoplasmic reticulum) 

(smooth endoplasmic retculum)

141. (b) 

(achene like) 

(cypsella) 

(locule) 

(calyx tissue) 

(pappus) 

(winged) 

(spiny) 

(Dendelion) 

142. (b) (holoblastic

cleavage) (complete cleavage)

(mesolecithal) 

(isolecithal) 

(non-vertebrate chordates)

143. (d) C4 (vascular

bundle) 

(palisade mesophyll cells) 

(Kranz anatomy)

144. (a) 

(mushroom gland) 

(i) 

(utriculi majoris) 

(pheripheral tubules) 

(ii) 

(utriculi breviores) 

145. (c)

(polyploidy) 

(rheumatism) 

146. (b) 

(thickener), (emulsifier) 

147. (d) (363-290 

148. (b) 

Co-A NAD+ 

(CO2 

Co-A, NADH

(+ H+) CO2 

TPP, 

Mg2 

149. (d) 

(sporophyte) (archegonium)

(antherozoid) 

150. (a) C, H O 

(macronutrients) 

96% 

(macromolecules) 






